[ Efficiency vs vertpos |
~ 0.5

Y RS S A S
g E : : :
2,008 rrrrerie e R N R
8 F . . :

B 0.07F e SR R TR

O F H H .

% 0.0BF i P
Y RO SO 0 O 3 SO
0.04F--------- s 000 {0 1 B S
e O
17 - A IR —
0015_".“+‘“ """"""

3 Doate e DL
I L : L :
[V B i R 0 A B

LR = . 4 Sreseseseee--

1072 107 1

10 0?
TP vertr (cr%)

‘ IC{HP Szd..n{vmu. +6p0evt
ﬁs %%igﬁ TEORSLTLIER 1000ewt

M

Efficiend

0

o

I
=
|

o
4]
I

efficiency vs vert z
o
[e)]
I

o
D
I

o
[
I

o
N

©
i

Ratio
©

B0 S10 0 10 30 T30

[ Efficiency vs. sim PV z |

~ 05
> : : : :

e T L
O
770 TR N ——

s Sim.

................................................

eff|C|ency
=]
w
I

= T R

I
N
I
¢
B

L SSVSRRRIS SN B SRR SN SO
O SN SO '
R SS N

Ratio
(]

20 15 -0 -5 0 5
Sim. PV z (cm)



	Contents
	Page 1


